

# City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

- rile Number		Title Status									
R-20	011-0134	Resolution Introduced									
		Resolution to appropriate alley pay underdrain in vari	ement, storm ser ous locations wi	wer, storm sewe	r relay, utility West Allis, in	adjustments and the amount of \$9	storm 45,845.10.				
		Introduced: 5/17/20	011	Co	ntrolling Body	: Public Works Cor	nmittee				
				Spo	onsor(s): Publi	c Works Committe	e				
COMMITTEE	RECOMM	IENDATION _	Appr	ove 1	ADOPT						
	MOVER	SECONDER	//	AYE	NO	PRESENT	EXCUSED				
CTION			Barczak	1							
DATE:			Czaplewski								
106			Kopplin								
1/201			Lajsic								
			Narlock								
			Reinke								
			Roadt	V							
			Sengstock	V							
			Vitale								
			Weigel								
			TOTAL	5							
IGNATURE (	о сомми	TTEE MEMBE	R								
Lun	11Bm	wil									
Chair O		Vice-									
COMMON CO	OUNCIL A	CTION	ADO	OPT							
CTION	MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED				
CTION	V		Barczak								
ATE:			Czaplewski	~							
1 7 2011	2		Kopplin								
			Lajsic	-							
	1		Narlock								
			Reinke								
			Roadt		- W						
			Sengstock Vitale								
			Vitale	1	N ESSENCE AND A COLOR						

Weigel

TOTAL



## City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

#### Resolution

File Number: R-2011-0134

**Final Action:** 

Sponsor(s):

Public Works Committee

MAY 1 7 2011

Resolution to approve bid of LaLonde Contractors, Inc. for the removal and reconstruction of the concrete alley pavement, storm sewer, storm sewer relay, utility adjustments and storm underdrain in various locations within the City of West Allis, in the amount of \$945,845.10.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of LaLonde Contractors, Inc. for 2011 Project No. 9 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of LaLonde Contractors, Inc. for 2011 Project No. 9 for:

removal and reconstruction of the concrete alley pavement, storm sewer, storm sewer relay, utility adjustments and storm underdrain in:

- 1. North/South and East/West alley between S. 76 St. and S. 77 St.: W. Pierce St. to W. Walker St. PLAN FILE NOS. AP-428 & U-2517
- 2. North/South alley between S. 73 St. and S. 74 St.: W. Walker St. to 314' north of W. Walker St. PLAN FILE NOS. AP-429 & U-2518
- 3. North/South alley between S. 74 St. and S. 75 St.: W. Madison St. to W. Greenfield Ave. PLAN FILE NOS. AP-430 & U-2519
- 4. North/South and East/West alley between S. 76 St. and S. 77 St.: W. Lapham St. to W. National Ave.

PLAN FILE NOS. AP-431 & U-2520

- 5. North/South alley between S. 74 St. and S. 75 St.: W. Hicks St. to W. Rogers St. PLAN FILE NOS. AP-432 & U-2521
- 6. North/South alley between S. 92 St. and S. 93 St.: W. Montana Ave. to W. Dakota St. PLAN FILE NOS. AP-433 & U-2522
- 7. North/South and East/West alley between S. 68 St. and S. 69 St.: W. National Ave. to W.

Mitchell St.

PLAN FILE NOS. AP-434 & U-2523

8. North/South and East/West alley between S. 58 St. and S. 59 St.: W. Grant St. to W. Lincoln Ave.

PLAN FILE NOS. AP-435 & U-2524

9. North/South and East/West alley between S. 56 St. and S. 57 St.: W. Burnham St. to W. Rogers St.

PLAN FILE NOS. AP-436 & U-2525

10.North /South alley between S. 57 St. and S. 58 St.: W. Mobile St. to W. Grant St. PLAN FILE NOS. AP-437 & U-2526

11.North /South and East/West alley between S. 56 St. and S. 57 St.: W. Rogers St. to W. Mobile St.

PLAN FILE NOS. AP-438 & U-2527

12.North /South and East/West alley between S. 57 St. and S. 58 St.: W. Rogers St. to W. Mobile St.

PLAN FILE NOS. AP-439 & U-2528

13.North /South and East/West alley between S. 58 St. and S. 59 St.: W. National Ave. to W. Greenfield Ave.

PLAN FILE NOS. AP-440 & U-2529

14.( INTENTIONALLY OMMITTED)

15.North /South alley between S. 56 St. and S. 57 St.: W. Mineral St. to W. Washington St. PLAN FILE NOS. AP-442 & U-2531

for the sum of Nine Hundred Forty-Five Thousand Eight Hundred Forty-Five and 10/100 dollars (\$945,845.10)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds, Storm Water Management Funds, Water Utility Funds, Bond Funds and Funds from Special Assessments.

ADOPTED

MAY 1 7 2011

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

5/20/11

Dan Devine, Mayor

## City of West Allis 2011 Project No. 9 Bid Opening - 5/12/11

### **ALLEY RECONSTRUCTION**

- 1.) S. 76 St. S. 77 St.: W. Pierce St. to W. Walker St.
- 2.) S. 73 St. S. 74 St.: W. Walker St. to 314' N/O W. Walker St. (North/South Alley ONLY)
- 3.) S. 74 St. S. 75 St.: W. Madison St. to W. Greenfield Ave. (North/South Alley ONLY)
- 4.) S. 76 St. S. 77 St.: W. Lapham St. to W. National Ave.
- 5.) S. 74 St. S. 75 St.: W. Hicks St. to W. Rogers St.
- 6.) S. 92 St. S. 93 St.: W. Montana Ave. to W. Dakota St.
- 7.) S. 68 St. S. 69 St.: W. National Ave. to W. Mitchell St.
- 8.) S. 58 St. S. 59 St.: W. Grant St. to W. Lincoln Ave.
  - 9.) S. 56 St. S. 57 St.: W. Burnham St. to W. Rogers St.
  - 10.) S. 57 St. S. 58 St.: W. Mobile St. to W. Grant St.
  - 11.) S. 56 St. S. 57 St.: W. Rogers St. to W. Mobile St.
  - 12.) S. 57 St. S. 58 St.: W. Rogers St. to W. Mobile St.
  - 13.) S. 58 St. S. 59 St.: W. National Ave. to W. Greenfield Ave.
  - 14.) Intentionally Ommitted
  - 15.) S. 56 St. S. 57 St.: W. Mineral St. to W. Washington Ave.

			Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
		LaLonde Contractors, Inc. P.O. Box 070420 Milwaukee, WI 53207		DC Burbach, Inc. W228 N2762 Duplainville Rd. Waukesha, WI 53186		State Contractors, Inc. 16575 W. Dakota Street New Berlin, WI 53151		
ITEM	UNITS		PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 Excavation	2,007	Cu. Yds.	\$15.60	31,309.20	\$23.55	47,264.85	\$20.00	40,140.00
2 Sodding	770	Sq. Yds.	\$15.80	12,166.00	\$15.75	12,127.50	\$9.00	6,930.00
3 Modular Block Wall, Complete	120	Sq. Ft.	\$40.00	4,800.00	\$28.00	3,360.00	\$22.00	2,640.00
4 Asphalt/Concrete Sawing	8,980	Lin. Ft.	\$1.25	11,225.00	\$1.30	11,674.00	\$1.25	11,225.00
5 Walk & Drive Removal	19,060	Sq. Ft.	\$0.49	9,339.40	\$0.51	9,720.60	\$0.50	9,530.00
6 Curb Removal	430	Lin. Ft.	\$4.00	1,720.00	\$5.35	2,300.50	\$3.00	1,290.00
7 Pavement Removal	12,600	Sq. Yds.	\$4.00	50,400.00	\$4.35	54,810.00	\$5.00	63,000.00
8 5" Concrete Walk & Drive	13,220	Sq. Ft.	\$3.30	43,626.00	\$3.70	48,914.00	\$3.50	46,270.00
9 7" Concrete Walk & Drive	3,930	Sq. Ft.	\$4.00	15,720.00	\$4.25	16,702.50	\$4.00	15,720.00

# City of West Allis 2011 Project No. 9 Bid Opening - 5/12/11

## ALLEY RECONSTRUCTION

10 31" Concrete Curb and Gutter	430	Lin. Ft.	\$20.00	8,600.00	\$22.40	9,632.00	\$20.00	8,600.00
11 7" Concrete Alley Pavement	12,590	Sq. Yds.	\$28.03	352,897.70	\$28.00	352,520.00	\$30.00	377,700.00
12 Joint Sealing	12,590	Sq. Yds.	\$0.85	10,701.50	\$0.90	11,331.00	\$1.00	12,590.00
13 Pavement Ties	250	Each	\$6.00	1,500.00	\$4.00	1,000.00	\$5.00	1,250.00
14 Crushed Stone Driveway	126	Tons	\$13.00	1,638.00	\$17.00	2,142.00	\$11.00	1,386.00
15 Base Aggregate Dense, 1-1/4"	4,290	Tons	\$13.00	55,770.00	\$9.75	41,827.50	\$11.00	47,190.00
16 Tack Coat	91	Gallons	\$1.50	136.50	\$1.50	136.50	\$1.50	136.50
17 HMA Pavement (Type E-0.3)	87	Tons	\$139.00	12,093.00	\$174.00	15,138.00	\$147.00	12,789.00
18 12" Dia. Storm Sewer Relay	245	Lin. Ft.	\$50.50	12,372.50	\$50.50	12,372.50	\$64.00	15,680.00
19 12" Dia. Storm Underdrain	389	Lin. Ft.	\$39.00	15,171.00	\$39.00	15,171.00	\$50.00	19,450.00
20 10" Dia. Storm Underdrain	4,151	Lin. Ft.	\$33.70	139,888.70	\$33.70	139,888.70	\$40.00	166,040.00
21 6" Dia. Storm Underdrain	2,532	Lin. Ft.	\$30.80	77,985.60	\$30.80	77,985.60	\$36.00	91,152.00
22 12" Dia. Building Storm Sewer (1)	7	Lin. Ft.	\$90.00	630.00	\$100.00	700.00	\$112.00	784.00
23 12" Storm Bulkheads	2	Units	\$90.00	180.00	\$100.00	200.00	\$90.00	180.00
24 Abandon Concrete Vault	1	Unit	\$950.00	950.00	\$1,000.00	1,000.00	\$640.00	640.00
25 4" Storm Service Reconnection	1	Unit	\$410.00	410.00	\$450.00	450.00	\$358.00	358.00
26 Alley Type Catch Basins	63	Units	\$1,060.00	66,780.00	\$1,060.00	66,780.00	\$815.00	51,345.00
27 Adjust Storm Manhole Frame	3	Units	\$260.00	780.00	\$260.00	780.00	\$435.00	1,305.00
28 Inlet Protection Barriers	65	Units	\$35.00	2,275.00	\$35.00	2,275.00	\$20.00	1,300.00
29 Manhole Protection Barriers	3	Units	\$60.00	180.00	\$60.00	180.00	\$20.00	60.00
30 Traffic Control	1	Lump Sum	\$4,600.00	4,600.00	\$20,600.00	20,600.00	\$20,000.00	20,000.00
Total		1		945,845.10		978,983.75		1,026,680.50